| D-10

ESEpEER A

. . _ MOTION TECHNOLOGY

118
LMK86(D)Zu5% R <+
116
75
46
2x2-M4x0.7Px10DP. N 15x2DP. ——4-M6x1Px12 DP.
I}
é ¥ H I P
= / d1° 9| H &5 T
S E L - - - 1 s
]
A I-E 4 4 :l A i
VA e 2] @ RNy 1
A [ "
65 [ 2-M2.6%0.45Px4 DP. 75
200 65
2xm-M2.6x0.45Px4 DP:
(m-1)x200 H
87
S 23 50
RAITIE 28
18
| Y
A e gy
e Y= Y e
| I il I I S
3 = ] f.I S _ — e~V
’ f ‘ 1 0 % g
S & | s | I i } S
) T T T [ | BN
z Ll [ Ll L S
1 A d =
2xn- @11x6 DP- i S
+26.6 THRU 100
(n-1)x100 70
L2
L1
60 P.C.D@T70
46 P.C.D@60

¢ LS N =
i T
L4 |20
86
SECTION A-A

340
440

540
640
740

940

2fL1 (mm)

440
540
640
740
840
1040

RA{TIZ (mm)

ABEE | A2iBREE
216.5 108.5
316.5 208.5
416.5 308.5
516.5 408.5
616.5 508.5
816.5 708.5

H (mm)

70
20
70
20
70
70

b

64

1

@4-M4%0.7Px8 DP.
@4-M5%0.8Px10 DP.

=}

© N o ua » W

a A A W W N

B (mm)

A1iBEE

5.7
6.9
8
9.2
10.4
11.6

A2iB

6.5
7.7
8.8
10
1.2
12.4




B B B MOTION TECHNOLOGY

75
4 - 4-MBx1Px12 DP.
BEE -
o PR - [RRR ®
””””””” Z:” ”""”""]\’Q;i;"”""’""""’1\’;1:;;""””"’"
”””””””””””” [ [ B 1 g
L T T .
@ & | { t T I 4 ©
]| © & & (>3
2xm-M2.6x4.5Px4 DP: M2 Bx0.45Px6 DP:
(m-1)x200 H
BAITIE 87
23 50
75 2 35
- | i u —— T T
| |
| | ™ ; [te}
o ] | il ] Tlgee
©| ] — 1 . 0 | ] ,:, §+8+<—V
8 ¢ 6= ‘ ‘ -4- ‘ ‘ 8
e T [l [ B [ L4
it e S =
! &
2xn- @11x6 DP.—/ \ 100
+06.6 THRU (n-1)x100 70
L2
L1
112
100
P.C.D@70 ‘ 90 ‘
[ P.C.D@60 | |
& S — m m
Ay s i \\O\ ] Y 4
(357 b‘\
'\ o " ) n
i LN I R C) ©
Q{Tjo @) O
2 / q@ 5 ;
.Pe ,/'O/ o ‘_‘
i b 46 20
4-M4x0.7Px8 DP. 86
4-M5x0.8Px10 DP.
SECTION A-A
B (mm)
RA{THE (mm) E2 (kg)
2fRL1 (mm) H (mm) n m
340 440 216.5 108.5 70 3 2 6.5 7.3
440 540 316.5 208.5 20 4 8 7.8 8.6
540 640 416.5 308.5 70 5 3 9 9.8
640 740 516.5 408.5 20 6 4 10.3 11.3
740 840 616.5 508.5 70 7 4 11.6 124
940 1040 816.5 708.5 70 9 5 13 13.8

D-11 |



| D-14

ESEfARAR A

LMK86:&1:554558

EBSEEEFO
87
23 50 3.5
28
1 =
[ (=]
e 1 —5
¥ T 3 ]
ﬂ, e o
B %8
BiEEZARIF1
87 10
23 50
28
18 35
e [
o= Ny=mE| W
18 8

87 8
23 50
28
18
I ]
;
= 1l g
I s S
BEEIEARF3
87 8
23 50
28
18
=

@30;3.%
246

:ﬂELFfﬂ

85
4-M5%0.8P=10 DP.

64
|
‘

062

4-M4xD.7Px10 DPy

P.C.0.70—
AR

~

062
4-M4x0.7Px8 DP:;
P.C.D4
T,
o \

I le. 0\\
< ‘

o o

062
P|C.D.45

L o)
o o \T\@ y
flof Mo

1
- L4-Me.><0.5P><8

64

plo ="
“t [IS.C.D.G
4-M4x0.7Px8 DP.

64
|

&
—

O
/
By
S o=
‘\{2‘

' @

o o
o

30° Og
‘\Q.‘_og%'

ogv

X973

)

DP.

BiEEZARF4
87 12
23 50
.28, 3.5
|
v s
I e "11: Q

87 8
23 50
28
18
ot [

ﬂWEL 1

8

eedoc
‘zss.ﬂggg‘
246

954 [E £ EEHO
28

23,

18

LR

=

@40h8

. . ; MOTION TECHNOLOGY

080

4-M5%0

.8Px12 DP.

64
\

47.14

4-M5x0.8Px12 DP.

l

64

OO[

o]
O~

{®)
(=)
o:I
o o

o5 R B 5

A~ | j
sSR!
e ! |
SEN i @3.2THRU.
o i
@3
/‘%iﬂl
©«© — —
N I I I
i |8 © |9=
19
BS5-L1M

)
ES)

20

16.5
13

\-@3.2THRU.

5.4

15.4
12.6

a3

BS5-Y1M





